RAD HRVATSKE AKADEMIJE ZNANOSTI I UMJETNOSTI MATEMATIČKE ZNANOSTI

B. P. Allahverdiev, H. Tuna and H. A. Isayev Spectral expansion for impulsive dynamic Dirac system on the whole line

Manuscript accepted for publication

This is a preliminary PDF of the author-produced manuscript that has been peer-reviewed and accepted for publication. It has not been copy-edited, proofread, or finalized by Rad HAZU Production staff.

SPECTRAL EXPANSION FOR IMPULSIVE DYNAMIC DIRAC SYSTEM ON THE WHOLE LINE

BILENDER P. ALLAHVERDIEV, HÜSEYIN TUNA AND HAMLET A. ISAYEV

ABSTRACT. In this study, we consider a impulsive dynamic Dirac system on the whole line. A spectral function of this system is constructed. We establish a Parseval equality and expansion formula in terms of the spectral function.

1. Introduction

F. V. Atkinson, in his book written in the 1960s [3], states that neither differential equations nor difference equations alone are sufficient for boundary value problems, and he mentioned that it would be beneficial to have these two types of equations in a single theory. Years after this book, in the 1990s, this wish was fulfilled with the concept of time scale. Differential equations and difference equations began to be studied under a single roof. The need to investigate all the problems discussed in the theory of differential equations on the time scale has arisen. For more detailed information on time scales see the excellent book by Bohner and Peterson [4].

Impulsive differential equations are one of the important equations in the theory of differential equations. It is well-known that these equations serve as basic models to study the dynamics of processes that are subject to sudden changes in their states. For this reason, it is being studied extensively by researchers today ([5, 6, 7, 8, 9, 10, 12, 13, 14, 16]).

On the other hand, spectral expansion theorems play a very important role in solving problems expressed with partial differential equations in mathematics and physics. Especially when solving partial differential equations

²⁰²⁰ Mathematics Subject Classification. 34N05 34A36, 33D15, 34L40, 34L10. Key words and phrases. Dynamic equations on time scales, impulsive Dirac system, Parseval equality, spectral expansion.

with the Fourier method, such theorems are needed. There are many studies on this subject in the literature (see [1, 2, 3, 5, 11, 15]).

Recently Allahverdiev and Tuna [2] studied the classical Dirac equation under impulsive conditions on the time scale. They investigated the fundamental properties of this type of problem in the finite interval and regular case.

In this paper, a spectral function for impulsive dynamic Dirac systems on the interval $(-\infty, \infty)$ is constructed. Later, we establish a Parseval equality and expansion formula in terms of the spectral function.

2. Main Results

We assume that the reader is familiar with the basic facts of time scales [4]. Let us consider the following impulsive dynamic Dirac system

(2.1)
$$\begin{cases} -y_2^{\nabla} + p(\zeta) y_1 = \lambda y_1, \\ y_1^{\Delta} + r(\zeta) y_2 = \lambda y_2, \end{cases} \zeta \in I,$$

(2.2)
$$y_2^{\rho}(a,\lambda)\cos\beta + y_1(a,\lambda)\sin\beta = 0,$$

$$(2.3) y_1(d-) - k_1 y_1(d+) = 0,$$

(2.4)
$$y_2^{\rho}(d-) - k_2 y_2^{\rho}(d+) = 0,$$

$$(2.5) y_2^{\rho}(b,\lambda)\cos\gamma + y_1(b,\lambda)\sin\gamma = 0,$$

where \mathbb{T} be a Sturmian time scale, $k_1, k_2, \beta, \gamma \in \mathbb{R}$, $y_2^{\rho}(.) = y_2(\rho(.)), -\infty < a < d < b < \infty$, $I_1 := [a, d), I_2 := (d, b], I := I_1 \cup I_2, I \subset \mathbb{T}$, and λ is a complex eigenvalue parameter.

Our basic assumptions throughout the paper are the following:

(A₁) Let $k_1k_2 = \alpha > 0$.

 $(A_2) p, r: I \to \mathbb{R}$ are continuous functions and have finite limits $p(d\pm), r(d\pm)$.

A similar problem has been investigated in [1] without impulsive conditions.

Let $H_1 = L_{\Delta}^2(I_1) + L_{\Delta}^2(I_2)$ be a Hilbert space endowed with the following inner product

$$\langle h, \omega \rangle_{H_1} := \int_{I_1} (h, \omega)_{\mathbb{C}^2} \Delta \zeta + \alpha \int_{I_2} (h, \omega)_{\mathbb{C}^2} \Delta \zeta,$$

where

$$h(\zeta) = \begin{pmatrix} h_1(\zeta, \lambda) \\ h_2(\zeta, \lambda) \end{pmatrix}, \ h_1(\zeta, \lambda) = \begin{cases} h_{11}(\zeta, \lambda), & \zeta \in I_1 \\ h_{12}(\zeta, \lambda), & \zeta \in I_2, \end{cases}$$
$$h_2(\zeta, \lambda) = \begin{cases} h_{21}(\zeta, \lambda), & \zeta \in I_1 \\ h_{22}(\zeta, \lambda), & \zeta \in I_2, \end{cases}$$

and

$$\omega(\zeta) = \begin{pmatrix} \omega_{1}\left(\zeta,\lambda\right) \\ \omega_{2}\left(\zeta,\lambda\right) \end{pmatrix}, \ \omega_{1}\left(\zeta,\lambda\right) = \begin{cases} \omega_{11}(\zeta,\lambda), & \zeta \in I_{1} \\ \omega_{12}(\zeta,\lambda), & \zeta \in I_{2}, \end{cases}$$
$$\omega_{2}\left(\zeta,\lambda\right) = \begin{cases} \omega_{21}(\zeta,\lambda), & \zeta \in I_{1} \\ \omega_{22}(\zeta,\lambda), & \zeta \in I_{2}. \end{cases}$$

It follows from [2] that there is an orthonormal system $\{\varphi_n\}$ $(n \in \mathbb{Z} := \{0, \pm 1, \pm 2, ...\})$ of eigenvectors of (2.1)-(2.5) with corresponding nonzero eigenvalues λ_n such that

$$(2.6) \qquad \int_{a}^{d} \|\omega\left(\zeta\right)\|_{\mathbb{C}^{2}}^{2} \Delta \zeta + \alpha \int_{d}^{b} \|\omega\left(\zeta\right)\|_{\mathbb{C}^{2}}^{2} \Delta \zeta = \sum_{n=-\infty}^{\infty} |a_{n}|^{2},$$

which is called the *Parseval equality*, where $\omega \in H_1$, $a_n = \langle \omega, \varphi_n \rangle_{H_1}$, $n \in \mathbb{Z}$. Denote by

$$\psi_{1}(\zeta,\lambda) = \begin{pmatrix} \psi_{11}(\zeta,\lambda) \\ \psi_{12}(\zeta,\lambda) \end{pmatrix}, \ \psi_{11}(\zeta,\lambda) = \begin{cases} \psi_{11}^{(1)}(\zeta), & \zeta \in I_{3} \\ \psi_{11}^{(2)}(\zeta), & \zeta \in I_{4}, \end{cases}$$
$$\psi_{12}(\zeta,\lambda) = \begin{cases} \psi_{12}^{(1)}(\zeta), & \zeta \in I_{3} \\ \psi_{12}^{(2)}(\zeta), & \zeta \in I_{4}, \end{cases}$$

(where $I_3 := (-\infty, d) \subset \mathbb{T}$, $I_4 := (d, \infty) \subset \mathbb{T}$) and

$$\psi_{2}(\zeta,\lambda) = \begin{pmatrix} \psi_{21}(\zeta,\lambda) \\ \psi_{22}(\zeta,\lambda) \end{pmatrix}, \ \psi_{21}(\zeta,\lambda) = \begin{cases} \psi_{21}^{(1)}(\zeta), & \zeta \in I_{3} \\ \psi_{21}^{(2)}(\zeta), & \zeta \in I_{4}, \end{cases}$$
$$\psi_{22}(\zeta,\lambda) = \begin{cases} \psi_{22}^{(1)}(\zeta), & \zeta \in I_{3} \\ \psi_{22}^{(2)}(\zeta), & \zeta \in I_{4}, \end{cases}$$

the solutions of (2.1) ($\zeta \in I_3 \cup I_4$) which satisfy conditions

(2.7)
$$\psi_{11}^{(1)}(c,\lambda) = 1, \ \psi_{12}^{(1)}(c,\lambda) = 0, \\ \psi_{21}^{(1)}(c,\lambda) = 0, \ \psi_{22}^{(1)}(c,\lambda) = 1, \ a < c < d.$$

and impulsive conditions (2.3)-(2.4).

Let λ_n $(n \in \mathbb{Z})$ be the eigenvalues and y_n $(n \in \mathbb{Z})$ be the corresponding eigenfunctions of the self-adjoint problem (2.1)-(2.5), where

$$y_{n}(\zeta) = \begin{pmatrix} y_{n1}(\zeta) \\ y_{n2}(\zeta) \end{pmatrix}, \ y_{n1}(\zeta) = \begin{cases} y_{n1}^{(1)}(\zeta), & \zeta \in I_{1} \\ y_{n2}^{(2)}(\zeta), & \zeta \in I_{2}, \end{cases}$$
$$y_{n2}(\zeta) = \begin{cases} y_{n2}^{(1)}(\zeta), & \zeta \in I_{1} \\ y_{n2}^{(2)}(\zeta), & \zeta \in I_{2}. \end{cases}$$

Since the solutions $\psi_1(\zeta, \lambda)$ and $\psi_2(\zeta, \lambda)$ of the system (2.1) are linearly independent, we find

$$y_n(\zeta) = u_n \psi_1(\zeta, \lambda_n) + v_n \psi_2(\zeta, \lambda_n), \ n \in \mathbb{Z}.$$

Without loss of generality, we can assume that $|u_n| \leq 1$ and $|v_n| \leq 1$ $(n \in \mathbb{Z})$. Write

$$\alpha_n^2 = \int_a^d \|y_n(\zeta)\|_{\mathbb{C}^2}^2 \Delta \zeta + \alpha \int_d^b \|y_n(\zeta)\|_{\mathbb{C}^2}^2 \Delta \zeta, \ n \in \mathbb{Z}.$$

Let

$$\omega\left(.\right) = \left(\begin{array}{c} \omega_1\left(.\right) \\ \omega_2\left(.\right) \end{array}\right) \in H_1,$$

is a real vector-valued function, where

$$\omega_{1}\left(\zeta\right)=\left\{\begin{array}{ll} \omega_{1}^{\left(1\right)}\left(\zeta\right), & \zeta\in I_{1}\\ \omega_{1}^{\left(2\right)}\left(\zeta\right), & \zeta\in I_{2}, \end{array}\right. \omega_{2}\left(\zeta\right)=\left\{\begin{array}{ll} \omega_{2}^{\left(1\right)}\left(\zeta\right), & \zeta\in I_{1}\\ \omega_{2}^{\left(2\right)}\left(\zeta\right), & \zeta\in I_{2}. \end{array}\right.$$

By (2.6), we see that

$$\int_{a}^{d} \|\omega\left(\zeta\right)\|_{\mathbb{C}^{2}}^{2} \Delta\zeta + \alpha \int_{d}^{b} \|\omega\left(\zeta\right)\|_{\mathbb{C}^{2}}^{2} \Delta\zeta$$

$$= \sum_{n=-\infty}^{\infty} \frac{1}{\alpha_{n}^{2}} \left\{ \int_{a}^{d} (\omega\left(\zeta\right), y_{n}\left(\zeta\right))_{\mathbb{C}^{2}} \Delta\zeta + \alpha \int_{d}^{b} (\omega\left(\zeta\right), y_{n}\left(\zeta\right))_{\mathbb{C}^{2}} \Delta\zeta \right\}^{2}$$

$$= \sum_{n=-\infty}^{\infty} \frac{1}{\alpha_{n}^{2}} \left\{ \int_{a}^{d} (\omega\left(\zeta\right), u_{n}\psi_{1}\left(\zeta, \lambda_{n}\right) + v_{n}\psi_{2}\left(\zeta, \lambda_{n}\right))_{\mathbb{C}^{2}} \Delta\zeta \right\}^{2}$$

$$= \sum_{n=-\infty}^{\infty} \frac{1}{\alpha_{n}^{2}} \left\{ \int_{a}^{d} (\omega\left(\zeta\right), u_{n}\psi_{1}\left(\zeta, \lambda_{n}\right) + v_{n}\psi_{2}\left(\zeta, \lambda_{n}\right))_{\mathbb{C}^{2}} \Delta\zeta \right\}^{2}$$

$$= \sum_{n=-\infty}^{\infty} \frac{u_{n}^{2}}{\alpha_{n}^{2}} \left\{ \int_{a}^{d} (\omega\left(\zeta\right), \psi_{1}\left(\zeta, \lambda_{n}\right))_{\mathbb{C}^{2}} \Delta\zeta \right\}$$

$$+2 \sum_{n=-\infty}^{\infty} \frac{u_{n}v_{n}}{\alpha_{n}^{2}} \left\{ \int_{a}^{d} (\omega\left(\zeta\right), \psi_{1}\left(\zeta, \lambda_{n}\right))_{\mathbb{C}^{2}} \Delta\zeta \right\}$$

$$\times \left\{ \int_{a}^{d} (\omega\left(\zeta\right), \psi_{2}\left(\zeta, \lambda_{n}\right))_{\mathbb{C}^{2}} \Delta\zeta + \alpha \int_{d}^{b} (\omega\left(\zeta\right), \psi_{2}\left(\zeta, \lambda_{n}\right))_{\mathbb{C}^{2}} \Delta\zeta \right\}$$

$$+ \sum_{n=-\infty}^{\infty} \frac{v_{n}^{2}}{\alpha_{n}^{2}} \left\{ \int_{a}^{d} (\omega\left(\zeta\right), \psi_{2}\left(\zeta, \lambda_{n}\right))_{\mathbb{C}^{2}} \Delta\zeta \right\}$$

$$+ \alpha \int_{d}^{b} (\omega\left(\zeta\right), \psi_{2}\left(\zeta, \lambda_{n}\right))_{\mathbb{C}^{2}} \Delta\zeta \right\}$$

$$+ \alpha \int_{d}^{b} (\omega\left(\zeta\right), \psi_{2}\left(\zeta, \lambda_{n}\right))_{\mathbb{C}^{2}} \Delta\zeta$$

The step function $\mu_{ij,[a,b]}$ (i,j=1,2) on \mathbb{R} is defined by

$$\mu_{11,[a,b]}(\lambda) = \begin{cases} -\sum_{\substack{\lambda < \lambda_n < 0 \\ 0 < \lambda_n < \lambda}} \frac{u_n^2}{\alpha_n^2}, & \text{for } \lambda \le 0 \\ \sum_{\substack{0 < \lambda_n < \lambda}} \frac{u_n^2}{\alpha_n^2}, & \text{for } \lambda > 0, \end{cases}$$

$$\mu_{12,[a,b]}(\lambda) = \begin{cases} -\sum_{\substack{\lambda < \lambda_n < 0 \\ 0 \le \lambda_n < \lambda}} \frac{u_n v_n}{\alpha_n^2}, & \text{for } \lambda \le 0 \\ \sum_{\substack{0 \le \lambda_n < \lambda}} \frac{u_n v_n}{\alpha_n^2}, & \text{for } \lambda > 0, \end{cases}$$

$$\mu_{12,[a,b]}(\lambda) = \mu_{21,[a,b]}(\lambda),$$

$$\mu_{22,[a,b]}(\lambda) = \begin{cases} -\sum_{\substack{\lambda < \lambda_n < 0 \\ 0 \leq \lambda_n < \lambda}} \frac{u_n^2}{\alpha_n^2}, & \text{for } \lambda \leq 0 \\ \sum_{\substack{0 \leq \lambda_n < \lambda \\ 0 \leq \lambda_n < \lambda}} \frac{u_n^2}{\alpha_n^2}, & \text{for } \lambda > 0. \end{cases}$$

From (2.8), we deduce that

$$\int_{a}^{d} \left\| \omega \left(\zeta \right) \right\|_{\mathbb{C}^{2}}^{2} \Delta \zeta + \alpha \int_{d}^{b} \left\| \omega \left(\zeta \right) \right\|_{\mathbb{C}^{2}}^{2} \Delta \zeta$$

(2.9)
$$= \int_{-\infty}^{\infty} \sum_{i,j=1}^{2} \Omega_{i}(\lambda) \Omega_{j}(\lambda) d\mu_{ij,[a,b]}(\lambda),$$

where

$$\Omega_{1}(\lambda) = \int_{a}^{d} (\omega(\zeta), \psi_{1}(\zeta, \lambda))_{\mathbb{C}^{2}} \Delta \zeta + \alpha \int_{d}^{b} (\omega(\zeta), \psi_{1}(\zeta, \lambda))_{\mathbb{C}^{2}} \Delta \zeta,$$

and

$$\Omega_{2}(\lambda) = \int_{a}^{d} (\omega(\zeta), \psi_{2}(\zeta, \lambda))_{\mathbb{C}^{2}} \Delta \zeta + \alpha \int_{d}^{b} (\omega(\zeta), \psi_{2}(\zeta, \lambda))_{\mathbb{C}^{2}} \Delta \zeta.$$

LEMMA 2.1. For any positive ξ , there is a positive constant $\Lambda = \Lambda(\xi)$ not depending on b such that

(2.10)
$$\bigvee_{-\xi}^{\xi} \left\{ \mu_{ij,[a,b]} (\lambda) \right\} < \Lambda \ (i, j = 1, 2).$$

PROOF. By (2.7), we infer that $\psi_{ij}^{(1)}\left(d_0,\lambda\right)=\delta_{ij}$, where δ_{ij} (i,j=1,2) is the Kronecker delta. It is clear that $\psi_{ij}^{(1)}\left(\zeta,\lambda\right)$ (i,j=1,2) are continuous both with respect to $\zeta\in[a,d)$ and $\lambda\in\mathbb{R}$. Then for every $\varepsilon>0$ there is a $d_0< k< d$ such that

(2.11)
$$\left|\psi_{ij}^{(1)}\left(\zeta,\lambda\right)-\delta_{ij}\right|<\varepsilon,\ \left|\lambda\right|<\xi,\ \text{where}\ \zeta\in\left[d_{0},k\right].$$

Let

$$\omega_{k}\left(\zeta\right) = \left(\begin{array}{c} \omega_{k1}\left(\zeta\right) \\ \omega_{k2}\left(\zeta\right) \end{array}\right)$$

be a nonnegative vector-valued function such that $\omega_{k1}(\zeta)$ vanishes outside the interval $[d_0, k]$ with

(2.12)
$$\int_{d_0}^k \omega_{k1}(\zeta) \,\Delta\zeta = 1,$$

and $\omega_{k2}(\zeta) = 0$. Let

$$\omega_{ik}(\lambda) = \int_{d_0}^k (\omega_k(\zeta), \psi_i)_{\mathbb{C}^2} \Delta\zeta$$

$$= \int_{d_0}^{k} \omega_{k1}(\zeta) \,\psi_{i1}^{(1)}(\zeta,\lambda) \,\Delta\zeta,$$

where i = 1, 2. By virtue of (2.11) and (2.12), we conclude that

(2.13)
$$|\omega_{1k}(\lambda) - 1| < \varepsilon, |\omega_{2k}(\lambda)| < \varepsilon, \text{ and } |\lambda| < \xi.$$

It follows from (2.9) that

$$\int_{d_{0}}^{k} \omega_{k1}^{2}(\zeta) \, \Delta \zeta \ge \int_{-\xi}^{\xi} \Omega_{1k}^{2}(\lambda) \, d\mu_{11,[a,b]}(\lambda)
+2 \int_{-\xi}^{\xi} \Omega_{1k}(\lambda) \, \Omega_{2k}(\lambda) \, d\mu_{12,[a,b]}(\lambda)
+ \int_{-\xi}^{\xi} \Omega_{2k}^{2}(\lambda) \, d\mu_{22,[a,b]}(\lambda) \ge \int_{-\xi}^{\xi} \Omega_{1k}^{2}(\lambda) \, d\mu_{11,[a,b]}(\lambda)
-2 \int_{-\xi}^{\xi} |\Omega_{1k}(\lambda)| \, |\Omega_{2k}(\lambda)| \, |d\mu_{12,[a,b]}(\lambda)| .$$

By (2.13), we obtain

$$\int_{d_{0}}^{k} \omega_{k1}^{2}(\zeta) \Delta \zeta > \int_{-\xi}^{\xi} (1 - \varepsilon)^{2} d\mu_{11,[a,b]}(\lambda)$$

$$-2 \int_{-\xi}^{\xi} \varepsilon (1 + \varepsilon) |d\mu_{12,[a,b]}(\lambda)|$$

$$= (1 - \varepsilon)^{2} (\mu_{11,[a,b]}(\xi) - \mu_{11,[a,b]}(-\xi))$$

$$-2\varepsilon (1 + \varepsilon) \bigvee_{-\xi}^{\xi} {\{\mu_{12,[a,b]}(\lambda)\}}.$$

Hence

$$\int_{d_0}^{k} \omega_{k1}^2(\zeta) \, \Delta \zeta > (1 - 3\varepsilon) \left\{ \mu_{11,[a,b]}(\xi) - \mu_{11,[a,b]}(-\xi) \right\}
- \varepsilon (1 + \varepsilon) \left\{ \mu_{22,[a,b]}(\xi) - \mu_{22,[a,b]}(-\xi) \right\}.$$

due to

$$(2.15) \qquad \bigvee_{-\xi}^{\xi} \left\{ \mu_{12,[a,b]} \left(\lambda \right) \right\} \leq \frac{1}{2} \left[\begin{array}{c} \mu_{11,[a,b]} \left(\xi \right) - \mu_{11,[a,b]} \left(-\xi \right) \\ + \mu_{22,[a,b]} \left(\xi \right) - \mu_{22,[a,b]} \left(-\xi \right) \end{array} \right].$$

Let

$$\chi_{k}\left(\zeta\right) = \left(\begin{array}{c} \chi_{k1}\left(\zeta\right) \\ \chi_{k2}\left(\zeta\right) \end{array}\right)$$

be a nonnegative vector-valued function such that $\chi_{k2}(\zeta)$ vanishes outside the interval $[d_0, k]$ with $\int_{d_0}^k \chi_{k2}(\zeta) \Delta \zeta = 1$, and $\chi_{k1}(\zeta) = 0$. Similarly, we get

$$\int_{d_0}^{k} \chi_{k2}^2(\zeta) \, \Delta \zeta > (1 - 3\varepsilon) \left\{ \mu_{22,[a,b]}(\xi) - \mu_{22,[a,b]}(-\xi) \right\}
- \varepsilon (1 + \varepsilon) \left\{ \mu_{11,[a,b]}(\xi) - \mu_{11,[a,b]}(-\xi) \right\}.$$

From (2.14) and (2.16), we find

$$\int_{d_0}^{k} \left\{ \omega_{k1}^2 \left(\zeta \right) + \chi_{k2}^2 \left(\zeta \right) \right\} \Delta \zeta$$

$$> \left(1 - 4\varepsilon - \varepsilon^{2}\right) \left\{ \begin{array}{c} \mu_{11,[a,b]}\left(\xi\right) - \mu_{11,[a,b]}\left(-\xi\right) \\ + \mu_{22,[a,b]}\left(\xi\right) - \mu_{22,[a,b]}\left(-\xi\right) \end{array} \right\}.$$

If the number $\varepsilon>0$ is selected such that $1-4\varepsilon-\varepsilon^2>0$, then the statement follows for the functions $\mu_{11,[a,b]}\left(-\xi\right)$ and $\mu_{22,[a,b]}\left(-\xi\right)$, relying on their monotonicity. For the function $\mu_{12,[a,b]}\left(-\xi\right)$, it follows from the Cauchy–Schwarz inequality.

Now let's define the following spaces.

 $H:=L^2\left(I_3;\mathbb{C}^2\right)+L^2\left(I_4;\mathbb{C}^2\right)$, be a Hilbert space endowed with the following inner product

$$\langle \omega, \chi \rangle_H := \int_{I_3} (\omega(\zeta), \chi(\zeta))_{\mathbb{C}^2} \Delta \zeta + \alpha \int_{I_4} (\omega(\zeta), \chi(\zeta))_{\mathbb{C}^2} \Delta \zeta,$$

where $I_3 = (-\infty, d) \subset \mathbb{T}$, $I_4 = (d, \infty) \subset \mathbb{T}$,

$$\omega\left(\zeta\right) = \left(\begin{array}{c} \omega_{1}\left(\zeta\right) \\ \omega_{2}\left(\zeta\right) \end{array}\right), \ \chi\left(\zeta\right) = \left(\begin{array}{c} \chi_{1}\left(\zeta\right) \\ \chi_{2}\left(\zeta\right) \end{array}\right),$$

$$\omega_1(\zeta) = \begin{cases} \omega_1^{(1)}(\zeta), & \zeta \in I_3 \\ \omega_1^{(2)}(\zeta), & \zeta \in I_4, \end{cases} \quad \omega_2(\zeta) = \begin{cases} \omega_2^{(1)}(\zeta), & \zeta \in I_3 \\ \omega_2^{(2)}(\zeta), & \zeta \in I_4, \end{cases}$$

$$\chi_1(\zeta) = \begin{cases} \chi_1^{(1)}(\zeta), & \zeta \in I_3 \\ \chi_1^{(2)}(\zeta), & \zeta \in I_4, \end{cases} \quad \chi_2(\zeta) = \begin{cases} \chi_2^{(1)}(\zeta), & \zeta \in I_3 \\ \chi_2^{(2)}(\zeta), & \zeta \in I_4. \end{cases}$$

Let ϱ be any non-decreasing function on $-\infty < \lambda < \infty$. $L_{\varrho}^{2}(\mathbb{R})$ be a Hilbert space of all functions $\omega : \mathbb{R} \to \mathbb{R}$ which are measurable with respect to the Lebesque–Stieltjes measure defined by ϱ and such that

$$\int_{-\infty}^{\infty} \omega^2(\lambda) \, d\varrho(\lambda) < \infty,$$

with the inner product

$$\left(\omega,\chi\right)_{\varrho}:=\int_{-\infty}^{\infty}\omega\left(\lambda\right)\chi\left(\lambda\right)d\varrho\left(\lambda\right).$$

THEOREM 2.2. Let ω is a real vector-valued function and $\omega \in H$. There are two monotone functions $\mu_{11}(\lambda)$ and $\mu_{22}(\lambda)$, and a function $\mu_{12}(\lambda)$ with variation bounded in each finite interval, none of which depends ω , and such that the following Parseval equality holds

$$\int_{I_3} \|\omega\left(\zeta\right)\|_{\mathbb{C}^2}^2 \Delta \zeta + \alpha \int_{I_4} \|\omega\left(\zeta\right)\|_{\mathbb{C}^2}^2 \Delta \zeta$$

(2.17)
$$= \int_{-\infty}^{\infty} \sum_{i,j=1}^{2} \Omega_{i}(\lambda) \Omega_{j}(\lambda) d\mu_{ij}(\lambda),$$

where

$$\Omega_{i}(\lambda) = \lim_{n \to \infty} \left\{ \begin{array}{c} \int_{-n}^{d} (\omega(\zeta), \psi_{i}(\zeta, \lambda))_{\mathbb{C}^{2}} \Delta \zeta \\ +\alpha \int_{d}^{n} (\omega(\zeta), \psi_{i}(\zeta, \lambda))_{\mathbb{C}^{2}} \Delta \zeta \end{array} \right\} (i = 1, 2).$$

We note that the matrix-valued function $\mu = (\mu_{ij})_{i,j=1}^2$ $(\mu_{12} = \mu_{21})$ is called a *spectral function* for the system (2.1), (2.3), (2.4).

Proof. Let

$$\omega_{m}\left(\zeta\right) = \left(\begin{array}{c} \omega_{1m}\left(\zeta\right) \\ \omega_{2m}\left(\zeta\right) \end{array}\right),\,$$

where

$$\omega_{1m}(\zeta) = \begin{cases} \omega_{1m}^{(1)}(\zeta), & \zeta \in I_3 \\ \omega_{1m}^{(2)}(\zeta), & \zeta \in I_4, \end{cases} \quad \omega_{2m}(\zeta) = \begin{cases} \omega_{2m}^{(1)}(\zeta), & \zeta \in I_3 \\ \omega_{2m}^{(2)}(\zeta), & \zeta \in I_4, \end{cases}$$

satisfies the following conditions:

- 1) $\omega_m\left(\zeta\right)$ vanishes outside the interval $[-m,d) \cup (d,m]$, where a < -m < d < m < b.
 - 2) The real vector-valued functions $\omega_m(\zeta)$ and $\omega_m^{\Delta}(\zeta)$ are continuous.
 - 3) $\omega_m(\zeta)$ satisfies conditions (2.2)-(2.5).

By (2.6), we have

$$\int_{m}^{d} \|\omega_{m}\left(\zeta\right)\|_{\mathbb{C}^{2}}^{2} \Delta \zeta + \alpha \int_{d}^{m} \|\omega_{m}\left(\zeta\right)\|_{\mathbb{C}^{2}}^{2} \Delta \zeta$$

(2.18)
$$= \sum_{k=-\infty}^{\infty} \frac{1}{\alpha_k^2} \left\{ \begin{array}{c} \int_a^d (\omega_m(\zeta), y_k(\zeta))_{\mathbb{C}^2} \Delta \zeta \\ +\alpha \int_d^b (\omega_m(\zeta), y_k(\zeta))_{\mathbb{C}^2} \Delta \zeta \end{array} \right\}^2.$$

 Δ -integrating by parts gives

$$\begin{split} & \int_{a}^{d} \left(\omega_{m}\left(\zeta\right), y_{k}\left(\zeta\right)\right)_{\mathbb{C}^{2}} \Delta\zeta + \alpha \int_{d}^{b} \left(\omega_{m}\left(\zeta\right), y_{k}\left(\zeta\right)\right)_{\mathbb{C}^{2}} \Delta\zeta \\ & = \frac{1}{\lambda_{k}} \int_{a}^{d} \omega_{1m}^{(1)}(\zeta) \left[-y_{k2}^{(1)^{\nabla}}(\zeta) + p\left(\zeta\right) y_{k1}^{(1)}(\zeta) \right] \Delta\zeta \\ & + \frac{1}{\lambda_{k}} \alpha \int_{d}^{b} \omega_{1m}^{(2)}(\zeta) \left[-y_{k2}^{(2)^{\nabla}}(\zeta) + p\left(\zeta\right) y_{k1}^{(2)}(\zeta) \right] \Delta\zeta \\ & + \frac{1}{\lambda_{k}} \int_{a}^{d} \omega_{2m}^{(1)}(\zeta) \left[y_{k1}^{(1)^{\Delta}}(\zeta) + r\left(\zeta\right) y_{k2}^{(1)}(\zeta) \right] \Delta\zeta \\ & + \frac{1}{\lambda_{k}} \alpha \int_{d}^{b} \omega_{2m}^{(2)}(\zeta) \left[y_{k1}^{(2)^{\Delta}}(\zeta) + r\left(\zeta\right) y_{k2}^{(2)}(\zeta) \right] \Delta\zeta \\ & = \frac{1}{\lambda_{k}} \int_{a}^{d} \left[-\omega_{2m}^{(1)^{\nabla}}(\zeta) + p\left(\zeta\right) \omega_{1m}^{(1)}(\zeta) \right] y_{k1}^{(1)}(\zeta) \Delta\zeta \\ & + \frac{1}{\lambda_{k}} \alpha \int_{d}^{b} \left[-\omega_{2m}^{(2)^{\nabla}}(\zeta) + p\left(\zeta\right) \omega_{1m}^{(2)}(\zeta) \right] y_{k1}^{(2)}(\zeta) \Delta\zeta \\ & + \frac{1}{\lambda_{k}} \int_{a}^{d} \left[\omega_{1m}^{(1)^{\Delta}}(\zeta) + r\left(\zeta\right) \omega_{2m}^{(2)}(\zeta) \right] y_{k2}^{(1)}(\zeta) \Delta\zeta \\ & + \frac{1}{\lambda_{k}} \alpha \int_{d}^{b} \left[\omega_{1m}^{(2)^{\Delta}}(\zeta) + r\left(\zeta\right) \omega_{2m}^{(2)}(\zeta) \right] y_{k2}^{(2)}(\zeta) \Delta\zeta. \end{split}$$

It follows from condition 1 that

$$\sum_{|\lambda_{k}| \geq s} \frac{1}{\alpha_{k}^{2}} \left\{ \begin{array}{c} \int_{m}^{d} (\omega_{m}(\zeta), y_{k}(\zeta))_{\mathbb{C}^{2}} \Delta \zeta \\ +\alpha \int_{d}^{m} (\omega_{m}(\zeta), y_{k}(\zeta))_{\mathbb{C}^{2}} \Delta \zeta \end{array} \right\}^{2}$$

$$\leq \frac{1}{s^{2}} \sum_{|\lambda_{k}| \geq s} \frac{1}{\alpha_{k}^{2}} \left\{ \begin{array}{l} \int_{m}^{d} \left[-\omega_{2m}^{(1)^{\nabla}} \left(\zeta \right) + p\left(\zeta \right) \omega_{1m}^{(1)} \left(\zeta \right) \right] y_{k1}^{(1)} \left(\zeta \right) \Delta \zeta \\ + \alpha \int_{d}^{m} \left[-\omega_{2m}^{(2)^{\nabla}} \left(\zeta \right) + p\left(\zeta \right) \omega_{1m}^{(2)} \left(\zeta \right) \right] y_{k1}^{(2)} \left(\zeta \right) \Delta \zeta \\ + \int_{m}^{d} \left[\omega_{1m}^{(1)^{\Delta}} \left(\zeta \right) + r\left(\zeta \right) \omega_{2m}^{(1)} \left(\zeta \right) \right] y_{k2}^{(1)} \left(\zeta \right) \Delta \zeta \\ + \alpha \int_{d}^{m} \left[\omega_{1m}^{(2)^{\Delta}} \left(\zeta \right) + r\left(\zeta \right) \omega_{2m}^{(2)} \left(\zeta \right) \right] y_{k2}^{(2)} \left(\zeta \right) \Delta \zeta \end{array} \right\}$$

$$\leq \frac{1}{s^{2}} \sum_{k=-\infty}^{\infty} \frac{1}{\alpha_{k}^{2}} \left\{ \begin{array}{l} \int_{-m}^{d} \left[-\omega_{2m}^{(1)^{\nabla}} \left(\zeta \right) + p\left(\zeta \right) \omega_{1m}^{(1)} \left(\zeta \right) \right] y_{k1}^{(1)} \left(\zeta \right) \Delta \zeta \\ + \alpha \int_{d}^{m} \left[-\omega_{2m}^{(2)^{\nabla}} \left(\zeta \right) + p\left(\zeta \right) \omega_{1m}^{(2)} \left(\zeta \right) \right] y_{k1}^{(2)} \left(\zeta \right) \Delta \zeta \\ + \int_{-m}^{d} \left[\omega_{1m}^{(1)^{\Delta}} \left(\zeta \right) + r\left(\zeta \right) \omega_{2m}^{(1)} \left(\zeta \right) \right] y_{k2}^{(1)} \left(\zeta \right) \Delta \zeta \\ + \alpha \int_{d}^{m} \left[\omega_{1m}^{(2)^{\Delta}} \left(\zeta \right) + r\left(\zeta \right) \omega_{2m}^{(2)} \left(\zeta \right) \right] y_{k2}^{(2)} \left(\zeta \right) \Delta \zeta \end{array} \right\}$$

$$= \frac{1}{s^{2}} \left\{ \begin{array}{l} \int_{-m}^{d} \left[-\omega_{2m}^{(1)^{\nabla}} \left(\zeta \right) + p \left(\zeta \right) \omega_{1m}^{(1)} \left(\zeta \right) \right]^{2} \Delta \zeta \\ + \alpha \int_{d}^{m} \left[-\omega_{2m}^{(2)^{\nabla}} \left(\zeta \right) + p \left(\zeta \right) \omega_{1m}^{(2)} \left(\zeta \right) \right]^{2} \Delta \zeta \\ + \int_{-m}^{d} \left[\omega_{1m}^{(1)^{\Delta}} \left(\zeta \right) + r \left(\zeta \right) \omega_{2m}^{(1)} \left(\zeta \right) \right]^{2} \Delta \zeta \\ + \alpha \int_{d}^{m} \left[\omega_{1m}^{(2)^{\Delta}} \left(\zeta \right) + r \left(\zeta \right) \omega_{2m}^{(2)} \left(\zeta \right) \right]^{2} \Delta \zeta \end{array} \right\}.$$

By (2.18), we find

$$\left| \int_{-m}^{d} \left\| \omega_{m} \left(\zeta \right) \right\|_{\mathbb{C}^{2}}^{2} \Delta \zeta + \alpha \int_{d}^{m} \left\| \omega_{m} \left(\zeta \right) \right\|_{\mathbb{C}^{2}}^{2} \Delta \zeta \right|
- \sum_{-N \leq \lambda_{k} \leq N} \frac{1}{\alpha_{k}^{2}} \left\{ \left\langle \omega_{m} \left(. \right), y_{k} \left(. \right) \right\rangle_{H} \right\}^{2} \right|
\leq \sum_{-N \leq \lambda_{k} \leq N} \frac{1}{\alpha_{k}^{2}} \left\{ \left\langle \omega_{m} \left(. \right), \left(u_{k} \psi_{1} \left(., \lambda_{k} \right) + v_{k} \psi_{2} \left(., \lambda_{k} \right) \right) \right\rangle_{H} \right\}^{2}
= \int_{-N}^{N} \sum_{i,j=1}^{2} \Omega_{im} \left(\lambda \right) \Omega_{jm} \left(\lambda \right) d\mu_{ij,[a,b]} \left(\lambda \right),$$

where

$$\Omega_{im}(\lambda) = \langle \omega_m(.), \psi_i(., \lambda) \rangle_H \ (i = 1, 2).$$

Therefore, we obtain

$$\int_{-m}^{d} \|\omega_{m}(\zeta)\|_{\mathbb{C}^{2}}^{2} \Delta \zeta + \alpha \int_{d}^{m} \|\omega_{m}(\zeta)\|_{\mathbb{C}^{2}}^{2} \Delta \zeta$$

$$- \int_{-N}^{N} \sum_{i,j=1}^{2} \Omega_{im}(\lambda) \Omega_{im}(\lambda) d\mu_{ij,[a,b]}(\lambda)$$

$$\leq \frac{1}{N^{2}} \int_{-m}^{d} \left[-\omega_{2m}^{(1)^{\nabla}} (\zeta) + p(\zeta) \omega_{1m}^{(1)} (\zeta) \right]^{2} \Delta \zeta
+ \alpha \frac{1}{N^{2}} \int_{d}^{m} \left[-\omega_{2m}^{(2)^{\nabla}} (\zeta) + p(\zeta) \omega_{1m}^{(2)} (\zeta) \right]^{2} \Delta \zeta
+ \frac{1}{N^{2}} \int_{-m}^{d} \left[\omega_{1m}^{(1)^{\Delta}} (\zeta) + r(\zeta) \omega_{2j}^{(1)} (\zeta) \right]^{2} \Delta \zeta
+ \frac{1}{N^{2}} \alpha \int_{d}^{m} \left[\omega_{1m}^{(2)^{\Delta}} (\zeta) + r(\zeta) \omega_{2m}^{(2)} (\zeta) \right]^{2} \Delta \zeta.$$
(2.19)

By Helly's theorems and Lemma 2.1, we can find sequences $\{a_k\}$ and $\{b_k\}$ such that the functions $\mu_{ij,[a_k,b_k]}(\lambda)$ converge $(a_k \to -\infty, b_k \to \infty)$ to a function $\mu_{ij}(\lambda)$ (i, j = 1, 2). It follows from (2.19) that

$$\begin{vmatrix}
\int_{-m}^{d} \|\omega_{m}(\zeta)\|_{\mathbb{C}^{2}}^{2} \Delta \zeta + \alpha \int_{d}^{m} \|\omega_{m}(\zeta)\|_{\mathbb{C}^{2}}^{2} \Delta \zeta \\
- \int_{-N}^{N} \sum_{i,j=1}^{2} \Omega_{im}(\lambda) \Omega_{jm}(\lambda) d\mu_{ij}(\lambda)
\end{vmatrix}$$

$$\leq \frac{1}{N^{2}} \int_{-m}^{d} \left[-\omega_{2m}^{(1)^{\nabla}}(\zeta) + p(\zeta) \omega_{1m}^{(1)}(\zeta) \right]^{2} \Delta \zeta \\
+ \alpha \frac{1}{N^{2}} \int_{d}^{m} \left[-\omega_{2m}^{(2)^{\nabla}}(\zeta) + p(\zeta) \omega_{1m}^{(2)}(\zeta) \right]^{2} \Delta \zeta \\
+ \frac{1}{N^{2}} \int_{-m}^{d} \left[\omega_{1m}^{(1)^{\Delta}}(\zeta) + r(\zeta) \omega_{2m}^{(1)}(\zeta) \right]^{2} \Delta \zeta \\
+ \frac{1}{N^{2}} \alpha \int_{d}^{m} \left[\omega_{1m}^{(2)^{\Delta}}(\zeta) + r(\zeta) \omega_{2m}^{(2)}(\zeta) \right]^{2} \Delta \zeta.$$

As $N \to \infty$, we see that

$$\int_{-m}^{d} \|\omega_{m}(\zeta)\|_{\mathbb{C}^{2}}^{2} \Delta \zeta + \alpha \int_{d}^{m} \|\omega_{m}(\zeta)\|_{\mathbb{C}^{2}}^{2} \Delta \zeta$$
$$= \int_{-\infty}^{\infty} \sum_{i,i=1}^{2} \Omega_{im}(\lambda) \Omega_{jm}(\lambda) d\mu_{ij}(\lambda).$$

Now let

$$\omega(\zeta) = \left\{ \begin{array}{ll} \omega^{(1)}(\zeta), & \zeta \in I_3 \\ \omega^{(2)}(\zeta), & \zeta \in I_4, \end{array} \right.$$
 is a real vector-value function and $\omega \in H$. Choose vector-valued functions

$$\omega_{\eta}\left(\zeta\right) = \begin{cases} \omega_{\eta}^{(1)}(\zeta), & \zeta \in I_{3} \\ \omega_{\eta}^{(2)}(\zeta), & \zeta \in I_{4}, \end{cases}$$

satisfying conditions 1-3 and such that

$$\lim_{\eta \to \infty} \int_{-\infty}^{d} \left\| \omega^{(1)} \left(\zeta \right) - \omega_{\eta}^{(1)} \left(\zeta \right) \right\|_{\mathbb{C}^{2}}^{2} \Delta \zeta$$

$$+\alpha\lim_{\eta\to\infty}\int_{d}^{\infty}\left\|\omega^{(2)}\left(\zeta\right)-\omega_{\eta}^{(2)}\left(\zeta\right)\right\|_{\mathbb{C}^{2}}^{2}\Delta\zeta=0.$$

Let

$$\Omega_{i\eta}(\lambda) = \int_{-\infty}^{d} \left(\omega_{\eta}^{(1)}(\zeta), \psi_{i}(\zeta, \lambda)\right)_{\mathbb{C}^{2}} \Delta \zeta$$
$$+\alpha \int_{d}^{\infty} \left(\omega_{\eta}^{(2)}(\zeta), \psi_{i}(\zeta, \lambda)\right)_{\mathbb{C}^{2}} \Delta \zeta \quad (i = 1, 2).$$

Then, we find

$$\int_{-\infty}^{d} \left\| \omega_{\eta}^{(1)} \left(\zeta \right) \right\|_{\mathbb{C}^{2}}^{2} \Delta \zeta + \alpha \int_{d}^{\infty} \left\| \omega_{\eta}^{(2)} \left(\zeta \right) \right\|_{\mathbb{C}^{2}}^{2} \Delta \zeta$$
$$= \int_{-\infty}^{\infty} \sum_{i,j=1}^{2} \Omega_{i\eta} \left(\lambda \right) \Omega_{j\eta} \left(\lambda \right) d\mu_{ij} \left(\lambda \right).$$

Since

$$\int_{-\infty}^{d} \left\| \omega_{\eta_{1}}^{(1)}\left(\zeta\right) - \omega_{\eta_{2}}^{(1)}\left(\zeta\right) \right\|_{\mathbb{C}^{2}}^{2} \Delta \zeta + \alpha \int_{d}^{\infty} \left\| \omega_{\eta_{1}}^{(2)}\left(\zeta\right) - \omega_{\eta_{2}}^{(2)}\left(\zeta\right) \right\|_{\mathbb{C}^{2}}^{2} \Delta \zeta \to 0$$

as $\eta_1, \eta_2 \to \infty$, we conclude that

$$\int_{-\infty}^{\infty} \sum_{i=1}^{2} \left(\Omega_{i\eta_{1}} \left(\lambda \right) \Omega_{j\eta_{1}} \left(\lambda \right) - \Omega_{i\eta_{2}} \left(\lambda \right) \Omega_{j\eta_{2}} \left(\lambda \right) \right) d\mu_{ij} \left(\lambda \right)$$

$$= \int_{-\infty}^{d} \left\| \omega_{\eta_{1}}^{(1)}(\zeta) - \omega_{\eta_{2}}^{(1)}(\zeta) \right\|_{\mathbb{C}^{2}}^{2} \Delta \zeta + \alpha \int_{d}^{\infty} \left\| \omega_{\eta_{1}}^{(2)}(\zeta) - \omega_{\eta_{2}}^{(2)}(\zeta) \right\|_{\mathbb{C}^{2}}^{2} \Delta \zeta \to 0$$

$$\int_{-\infty}^{d} \left\| \omega^{(1)} \left(\zeta \right) \right\|_{\mathbb{C}^{2}}^{2} \Delta \zeta + \alpha \int_{d}^{\infty} \left\| \omega^{(2)} \left(\zeta \right) \right\|_{\mathbb{C}^{2}}^{2} \Delta \zeta$$
$$= \int_{-\infty}^{\infty} \sum_{i,j=1}^{2} \Omega_{i} \left(\lambda \right) \Omega_{j} \left(\lambda \right) d\mu_{ij} \left(\lambda \right),$$

by the completeness of the space $L^2_{\mu}(\mathbb{R})$. Now, we shall prove that the sequence

$$K_{\eta i}(\lambda) = \int_{-\eta}^{d} (\omega^{(1)}(\zeta), \psi_{i}(\zeta, \lambda))_{\mathbb{C}^{2}} \Delta \zeta$$
$$+ \int_{d}^{\eta} (\omega^{(2)}(\zeta), \psi_{i}(\zeta, \lambda))_{\mathbb{C}^{2}} \Delta \zeta \ (i = 1, 2)$$

converges as $\eta \to \infty$ to Ω_i (i=1,2) in $L^2_{\mu}(\mathbb{R})$. Let χ be another function in $H. \Sigma(\lambda)$ can be defined by χ . It is obvious that

$$\int_{-\infty}^{d} \left\| \omega^{(1)} \left(\zeta \right) - \chi^{(1)} \left(\zeta \right) \right\|_{\mathbb{C}^{2}}^{2} \Delta \zeta + \alpha \int_{d}^{\infty} \left\| \omega^{(2)} \left(\zeta \right) - \chi^{(2)} \left(\zeta \right) \right\|_{\mathbb{C}^{2}}^{2} \Delta \zeta$$

$$= \int_{-\infty}^{\infty} \sum_{i,j=1}^{2} \left\{ \left(\Omega_{i}\left(\lambda\right) - \Sigma_{i}\left(\lambda\right)\right) \left(\Omega_{j}\left(\lambda\right) - \Sigma_{j}\left(\lambda\right)\right) \right\} d\mu_{ij}\left(\lambda\right).$$

Let

$$\chi\left(\zeta\right) = \left\{ \begin{array}{ll} \omega\left(\zeta\right), & \zeta \in [-\eta, d) \cup (d, \eta] \\ 0, & \text{otherwise.} \end{array} \right.$$

Therefore, we obtain

$$\int_{-\infty}^{\infty} \sum_{i,j=1}^{2} \left\{ \left(\Omega_{i}\left(\lambda\right) - K_{\eta i}\left(\lambda\right)\right) \left(\Omega_{j}\left(\lambda\right) - K_{\eta j}\left(\lambda\right)\right) \right\} d\mu_{ij}\left(\lambda\right)$$

$$= \int_{-\infty}^{-\eta} \left\| \omega^{(1)} \left(\zeta \right) \right\|_{\mathbb{C}^{2}}^{2} \Delta \zeta + \alpha \int_{\eta}^{\infty} \left\| \omega^{(2)} \left(\zeta \right) \right\|_{\mathbb{C}^{2}}^{2} \Delta \zeta \to 0 \ \left(\eta \to \infty \right),$$

which proves that $(K_{\eta i})$ converges to Ω_i (i = 1, 2) in $L^2_{\mu}(\mathbb{R})$ as $\eta \to \infty$.

Theorem 2.3. Suppose that the real vector-valued functions

$$\omega(\zeta) = \left\{ \begin{array}{ll} \omega^{(1)}(\zeta), & \zeta \in I_3 \\ \omega^{(2)}(\zeta), & \zeta \in I_4, \end{array} \right. \\ \chi(\zeta) = \left\{ \begin{array}{ll} \chi^{(1)}(\zeta), & \zeta \in I_3 \\ \chi^{(2)}(\zeta), & \zeta \in I_4, \end{array} \right.$$

 $\omega, \chi \in H$, and $\Omega_i(\lambda)$, $\Sigma_i(\lambda)$ (i = 1, 2) are their Fourier transforms. Then, the following generalized Parseval equality holds

$$\int_{-\infty}^{d} \left(\omega^{(1)}(\zeta), \chi^{(1)}(\zeta)\right)_{\mathbb{C}^{2}} \Delta \zeta + \alpha \int_{d}^{\infty} \left(\omega^{(2)}(\zeta), \chi^{(2)}(\zeta)\right)_{\mathbb{C}^{2}} \Delta \zeta$$
$$= \int_{-\infty}^{\infty} \sum_{i,j=1}^{2} \Omega_{i}(\lambda) \Sigma_{j}(\lambda) d\mu_{ij}(\lambda).$$

PROOF. Since $\Omega \mp \Sigma$ are transforms of $\omega \mp \chi$, we see that

$$\int_{-\infty}^{d} \left\| \omega^{(1)} \left(\zeta \right) + \chi^{(1)} \left(\zeta \right) \right\|_{\mathbb{C}^{2}}^{2} \Delta \zeta + \alpha \int_{d}^{\infty} \left\| \omega^{(2)} \left(\zeta \right) + \chi^{(2)} \left(\zeta \right) \right\|_{\mathbb{C}^{2}}^{2} \Delta \zeta$$

(2.20)
$$= \int_{-\infty}^{\infty} \sum_{i,j=1}^{2} (\Omega_{i}(\lambda) + \Sigma_{i}(\lambda)) (\Omega_{j}(\lambda) + \Sigma_{j}(\lambda)) d\mu_{ij}(\lambda)$$

and

$$\int_{-\infty}^{d} \left\| \omega^{(1)} \left(\zeta \right) - \chi^{(1)} \left(\zeta \right) \right\|_{\mathbb{C}^{2}}^{2} \Delta \zeta + \alpha \int_{d}^{\infty} \left\| \omega^{(2)} \left(\zeta \right) - \chi^{(2)} \left(\zeta \right) \right\|_{\mathbb{C}^{2}}^{2} \Delta \zeta$$

$$(2.21) \qquad = \int_{-\infty}^{\infty} \sum_{i,j=1}^{2} \left(\Omega_{i} \left(\lambda \right) - \Sigma_{i} \left(\lambda \right) \right) \left(\Omega_{j} \left(\lambda \right) - \Sigma_{j} \left(\lambda \right) \right) d\mu_{ij} \left(\lambda \right).$$

By (2.20) and (2.21), we get the desired result.

Theorem 2.4. Let ω is a real vector-valued function

$$\omega(\zeta) = \left\{ \begin{array}{ll} \omega^{(1)}(\zeta), & \zeta \in I_3 \\ \omega^{(2)}(\zeta), & \zeta \in I_4 \end{array} \right.$$

and $\omega \in H$. Then, the integrals

$$\int_{-\infty}^{\infty} \Omega_i(\lambda) \, \psi_j(\zeta, \lambda) \, d\mu_{ij}(\lambda) \ (i, j = 1, 2)$$

converge in H. Thus, we obtain the spectral expansion formula

$$\omega\left(\zeta\right) = \int_{-\infty}^{\infty} \sum_{i,j=1}^{2} \Omega_{i}\left(\lambda\right) \psi_{j}\left(\zeta,\lambda\right) d\mu_{ij}\left(\lambda\right).$$

PROOF. Write

$$\omega_{s}(\zeta) = \int_{-s}^{s} \sum_{i,j=1}^{2} \Omega_{i}(\lambda) \psi_{j}(\zeta, \lambda) d\mu_{ij}(\lambda),$$

where s > 0, $\omega_s \in H$ and

$$\omega_s(\zeta) = \begin{cases} \omega_s^{(1)}(\zeta), & \zeta \in I_3\\ \omega_s^{(2)}(\zeta), & \zeta \in I_4. \end{cases}$$

Let

$$\chi(\zeta) = \begin{cases} \chi^{(1)}(\zeta), & \zeta \in I_3 \\ \chi^{(2)}(\zeta), & \zeta \in I_4, \end{cases} \chi \in H$$

be a real vector-valued function which is equal to zero outside the finite interval $[-\tau, d) \cup (d, \tau]$, where $\tau \geq m$. Hence we get

$$\int_{-\tau}^{d} \left(\omega_{s}^{(1)}(\zeta), \chi^{(1)}(\zeta) \right)_{\mathbb{C}^{2}} \Delta \zeta + \alpha \int_{d}^{\tau} \left(\omega_{s}^{(2)}(\zeta), \chi^{(2)}(\zeta) \right)_{\mathbb{C}^{2}} \Delta \zeta
= \int_{-\tau}^{d} \left(\int_{-s}^{s} \sum_{i,j=1}^{2} \Omega_{i}(\lambda) \psi_{j}(\zeta, \lambda) d\mu_{ij}(\lambda), \chi^{(1)}(\zeta) \right)_{\mathbb{C}^{2}} \Delta \zeta
+ \alpha \int_{d}^{\tau} \left(\int_{-s}^{s} \sum_{i,j=1}^{2} \Omega_{i}(\lambda) \psi_{j}(\zeta, \lambda) d\mu_{ij}(\lambda), \chi^{(2)}(\zeta) \right)_{\mathbb{C}^{2}} \Delta \zeta
= \int_{-s}^{s} \sum_{i,j=1}^{2} \Omega_{i}(\lambda) \left\{ \int_{-\tau}^{d} \left(\chi^{(1)}(\zeta), \psi_{j}(\zeta, \lambda) \right)_{\mathbb{C}^{2}} \Delta \zeta \right\}
+ \alpha \int_{d}^{\tau} \left(\chi^{(2)}(\zeta), \psi_{j}(\zeta, \lambda) \right)_{\mathbb{C}^{2}} \Delta \zeta \right\}
(2.22) = \int_{-s}^{s} \sum_{i,j=1}^{2} \Omega_{i}(\lambda) \Sigma_{j}(\lambda) d\mu_{ij}(\lambda).$$

From Theorem 2.3, we find

$$\int_{-\infty}^{d} \left(\omega^{(1)}\left(\zeta\right), \chi^{(1)}\left(\zeta\right)\right)_{\mathbb{C}^{2}} \Delta \zeta + \alpha \int_{d}^{\infty} \left(\omega^{(2)}\left(\zeta\right), \chi^{(2)}\left(\zeta\right)\right)_{\mathbb{C}^{2}} \Delta \zeta$$

(2.23)
$$= \int_{-\infty}^{\infty} \sum_{i,j=1}^{2} \Omega_{i}(\lambda) \Sigma_{j}(\lambda) d\mu_{ij}(\lambda).$$

By virtue of (2.22) and (2.23), we deduce that

(2.24)
$$\langle \omega - \omega_s, \chi \rangle_H = \int_{|\lambda| > s} \sum_{i,j=1}^2 \Omega_i(\lambda) \Sigma_j(\lambda) d\mu_{ij}(\lambda).$$

Let

$$\chi\left(\zeta\right) = \left\{ \begin{array}{c} \omega\left(\zeta\right) - \omega_{s}\left(\zeta\right), & \zeta \in \left[-s, d\right) \cup \left(d, s\right] \\ 0, & \text{otherwise.} \end{array} \right.$$

It follows from (2.24) that

$$\left\|\omega - \omega_{s}\right\|_{H}^{2} = \int_{\left|\lambda\right| > s} \sum_{i,j=1}^{2} \Omega_{i}\left(\lambda\right) \Omega_{j}\left(\lambda\right) d\mu_{ij}\left(\lambda\right).$$

Letting $s \to \infty$ gives the desired result.

Declarations

Ethical Approval

not applicable

Competing interests

not applicable

Authors' contributions

Authors' contributions are in the order of listed names.

Funding

not applicable

Availability of data and materials

not applicable

References

- [1] B. P. Allahverdiev and H. Tuna, On expansion in eigenfunction for Dirac systems on the unbounded time scales, Differ. Equ. Dyn. Syst. 30 (2022), 271-285.
- [2] B. P. Allahverdiev and H. Tuna, Impulsive Dirac system on time scales, Ukrain. Math. J., 75 (6) (2023), 723-735.
- [3] F. V. Atkinson, Discrete and Continuous Boundary Problems, Mathematics in Science and Engineering. 8. New York-London: Academic Press. XIV, 1964.
- [4] M. Bohner and A. Peterson, Dynamic Equations on Time Scales, Birkhäuser, Boston, 2001
- [5] Ş. Faydaoğlu and G. Sh. Guseinov, Eigenfunction expansion for a Sturm-Liouville boundary value problem with impulse, Int. J. Pure Appl. Math., 8 (2) (2003), 137-170.

- [6] Y. Güldü, On discontinuous Dirac operator with eigenparameter dependent boundary and two transmission conditions, Bound. Value Probl. **2016** (135) (2016), 1-19.
- [7] D. Karahan and Kh. R. Mamedov, On a q-boundary value problem with discontinuity conditions, Vestn. Yuzhno-Ural. Gos. Un-ta. Ser. Matem. Mekh. Fiz., 13 (4) (2021), 5-12
- [8] D. Karahan and Kh. R. Mamedov, On a q-analogue of the Sturm-Liouville operator with discontinuity conditions, Vestn. Samar. Gos. Tekh. Univ., Ser. Fiz.-Mat. Nauk., 26 (3) (2022), 407-418.
- [9] D. Karahan and Kh. R. Mamedov, Sampling theory associated with q-Sturm-Liouville operator with discontinuity conditions, J. Contemp. Appl. Math., 10 (2) (2020), 40-48.
- [10] B. Keskin and A. S. Ozkan, Inverse spectral problems for Dirac operator with eigenvalue dependent boundary and jump conditions, Acta Math. Hungarica., 130 (2011), 309-320.
- [11] B. M. Levitan and I. S. Sargsjan, Sturm-Liouville and Dirac operators, Mathematics and its Applications (Soviet Series). Kluwer Academic Publishers Group, Dordrecht, 1991.
- [12] O. Sh. Mukhtarov, Discontinuous boundary-value problem with spectral parameter in boundary conditions, Turkish J. Math. 18 (1994), 183-192.
- [13] O. Sh. Mukhtarov and K. Aydemir, The eigenvalue problem with interaction conditions at one interior singular point, Filomat, 31 (17) (2017), 5411-5420.
- [14] H. Olğar and O. Sh. Mukhtarov, Weak eigenfunctions of two-interval Sturm-Liouville problems together with interaction conditions, J. Math. Phys., 58 042201 (2017), 1-14.
- [15] E. C. Titchmarsh, Eigenfunction Expansions Associated with Second-order Differential Equations, Part I. Second Edition Clarendon Press, Oxford, 1962.
- [16] A. Zettl, Adjoint and self-adjoint boundary value problems with interface conditions, SIAM J. Appl. Math., 16 (4) (1968), 851-859.

Naslov

Prvi autor, drugi autor i treći autor

Sažetak. Hrvatski prijevod sažetka.

Bilender P. Allahverdiev

Department of Mathematics, Khazar University, AZ1096 Baku, Azerbaijan and Research Center of Econophysics, UNEC-Azerbaijan State University of Economics, Baku, Azerbaijan

 $E ext{-}mail:$ bilenderpasaoglu@gmail.com

Hüseyin Tuna
Department of Mathematics, Mehmet Akif Ersoy University,
15030 Burdur, Turkey and
Research Center of Econophysics,
UNEC-Azerbaijan State University of Economics,
Baku, Azerbaijan
E-mail: hustuna@gmail.com

Hamlet A. Isayev Department of Mathematics, Khazar University, AZ1096 Baku, Azerbaijan E-mail: hamlet@khazar.org